
 

      



Explaining manipulations 

There were many manipulations that I did in order to analyse the problem of parking at school. I used ArcMap and ArcCatalog to geocode the data from TCC and from 

my surveys...  

I created layers using the information that I collected about how senior students get to school, by putting their addresses into an Excel table. I did the geocoding by 

adding the Excel table to my map in ArcMap and then using the address locator it turned my data into points in my map, see map 4. This manipulation made it possible 

for me to see where students lived and compare distances (2). This process was repeated several times for the different modes of transport, one into each layer. I made 

each layer a different colour I then used the information to create layers to show visually how many students drove to school and from where.  It was now possible to 

turn the layers on and off separately…                                                                                                                                                  

 

Proposing a solution to a geographic problem  

From the results of my analysis, I see that there is definitely a shortage of parking at our school.  53% of students drive to school (graph 2) and require parking. A solution 

to this problem could be for students to apply for a parking permit with strict criteria. This would immediately reduce the number of cars trying to park at school, as only 

a set number of permits would be allocated… The criteria would relate to the distance students lived from the school (3). Students who live within 3km of school cannot 

get a permit. From Map 4 on my layout, you can see that there are 24 students who drive to school but they could walk as they live close enough to the school. There are 

also 10 students who drive to school who could cycle to school.  The distance from school could vary with the number of applicants for parking permits; this would make 

it possible to regulate the distance by the number of parks available in any year… 

An alternative is to ban students from parking at school with the exception of those students who have no alternative way of getting there. This is quite similar to the 

solution proposed as the criteria can be such that only selected students are eligible (4). The school could use and idea like carless days, where certain people can bring a 

car on stipulated days, this was more people would have the option to bring a car…                                                                                                                                

  


